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I ’® mwn: minimal amounts of ingestion of grape and its byproducts for liability as n
a all byproducts are 7708 and combine to be considered a minimal amount - n’r>
i earlier ruling: for drinking (wine/vinegar) — n»»a1 (approx. 3.5 0z.)
ii ~ y™:even if he soaked his bread in wine and ate a n’r>-worth (explanation below) — 2»n
b observation: our mwn does not accord with 8™, who includes grape leaves and shoots in the prohibition
i arguments:
1  »7rutilizes system of vwm 17 to decipher a text with exclusionary language followed by inclusions
(a) therefore: 1a01 1 (exclusive) followed by ...nwy» WK an (inclusive) —>all are included, only vines are out
2 prpom use system of 10791 99
(a) therefore: 19w 1 (detail) followed by ...nwy» 9WR Yan (general) > use V19 to guide inclusion
(i) therefore: only fruit and its byproducts are included
1. added: fruit — even unripe; byproducts — even worm-eaten grapes (& 7 includes meat of grape)
(ii) challenge: perhaps we should follow details more narrowly: only completely ripe fruit included
(iii) answer: if so, no need for %93 — all completed fruit and byproducts are listed
(b) inference: from mention of 2" set of details (a1 T n7¥INN), we learn that generally, we cannot interpret a
V12 followed by a %93 as limited until there is a 2" v1a following the %53, as we find in
(c) question: how does 8™ learn this rule?
(i) Answer: fromv.3orv. 4
(ii) Challenge: why not v. 5?
1. Answer: the v19in v. 5 may be there to specifically exclude n’n
2. block: it states jx%) 9pa which direct to nnna only
3 note: source for validity of 9521 V191 590 -v. 6
(a) just as: the details are fruit which is a product, grown from the ground, so with all use of w”yn funds
4 rules:
(a) need for final Y53 in 5”83 — to expand application to things similar to v
(b) need for final V19 in 9”38 — to limit application (else the %93 would add things dissimilar to the v19)
(c) difference between 5”93 and 8”9
(i) 2”83 —if there’s another item which is similar to the v44 in only one way —included;
(if) 9”98 - for inclusion, another item must be similar to the V19 in at least two significant ways
(d) difference between 9531 V19 against n127) VYN
(i) answer
1. 5991 V19 — the 953 expands to include and no need for exclusion (in our case — even shoots)
2. nam vn must necessarily exclude something ->shoots are excluded
II  ’a mwn: minimal kinds that must be eaten for liability
a  p"m:independent liability for grapes, wine, % n and » (meanings to be discussed)
b y”ary: only liable if he ate 2 maxn and 1 a1 (as per v. 1)
i question: how does y”ar derive inference above — use of final v18 — if he requires » 7 DxINN for this?
1 Answerl: he uses R"'s interpretive system
2 Answer2: the wording and placement teach two things — the rule about V11 %93 and the 1yw
¢ definition of a/Daxn:
i N7 '3 0IXIN are peels, ar are seeds
ii >0y " (just like bell on animal — it is the bell, Y21y the clapper) — n71x7n are seeds, » the peel
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